
 

What to do today 
 

 
 
 

 
1. Answer the questions on the Grammar Test 
• There are 50 questions, so settle yourself somewhere quiet and try to 

concentrate for up to an hour. Do your best and find the questions that 
you know you can do.  

 
When you have finished – check your answers with a grown-up. 
 
2.  Complete – How Did You Do? 
• Look for the question numbers that you got right and highlight these.  
• You will start to see which areas of grammar you are confident with 

and which you can learn more about.  
 

3. Write a Target 
• Write a target for yourself for your grammar learning at home. What do 

you think you could get better at? 
 
 
Try these Fun-Time Extras 
• Make a design for a front cover of one of the Harry Potter Books 
• Design a Harry Potter game. You could use some of the questions from 

the test. 
  

IMPORTANT Parent or Carer – Read this page with your child and check that you are happy 
with what they have to do and any weblinks or use of internet.   
 



 

  
Name:              

              

  Date: 

 
English grammar, punctuation and spelling: questions Paper 1 
 

 

What is the word class of the underlined words in the sentence below? 
 

1 point 

 

Neville laughed when the Bogart turned into Snape in an old frilly dress and a towering 

hat. 

 

  

Tick one. 

 

adjectives  

adverbs  

determiners  

nouns  

   

 

Which sentence uses the word right as an adverb?  

  

  

Tick one. 

 

1 point 

Everyone has the right to a fair trial.   

Hermione knew the right answer.  

Harry chose the right way into the maze.     

Ron sighed as he had guessed right.  

   

 

Complete the sentence with an appropriate subordinating conjunction. 

 

1 point 

 

 

 

Hagrid hummed __________________________ he fed Buckbeak. 

 
 

  
 

1 

2 

3 



 

 

What is the word class of the underlined word in the sentence below? 

 

1 point 

 

Hold on tight when riding the Knight Bus. 

 

 
 

Tick one. 
 

conjunction  

adverb  

determiner  

verb  
  

 

 

Which sentence uses the word well as a verb? 

 

1 point 

  

Tick one. 
 

The Pensieve was like a well of memories.  

Quirrell did not seem a well person.   

A tear began to well in the phoenix’s eye.    

Hagrid’s first lesson did not end well.   
   

 

Replace the underlined words in the sentence below with the correct pronouns. 
 

1 point 

 

Hagrid’s advice was for Ron and Harry to follow the spiders  

but Hagrid’s advice confused Ron and Harry.  
 

 

   
 

 

 

 

  
 

4 

5 

6 



 

 

Tick the sentence that must end with a question mark. 
 

1 point 

  

Tick one. 
 

When Ron pushed the button, the car seemed to vanish  

How the car was flying, Harry did not know  

What worries he had soon slipped away as Harry enjoyed the ride  

Why hadn’t they been able to get onto platform nine and three-quarters   
 

  

 

 

Which sentence is a command?  

 

1 point 

  

Tick one. 
 

Open the Chamber of Secrets    

The Chamber of Secrets has been opened   

Where is the Chamber of Secrets  

Open is the Chamber of Secrets  
 

 

Which verb form completes the sentence? 

  

  
Once he had opened the cage, the pixies shot in every direction like rockets. 

  

     
 

 

Tick one. 
 

1 point 

had opened   

is opening   

was opening     

have opened  
  

 

7 

8 

9 



 

 

Which sentence uses capital letters correctly? 

 

1 point 

  

Tick one. 

 

It was Saturday and they decided to visit Hagrid after breakfast.  

It was saturday and they decided to visit Hagrid after breakfast.  

It was Saturday and they decided to visit Hagrid after Breakfast.  

it was Saturday and they decided to visit hagrid after breakfast.  

 
  

 

Insert a semi-colon in the correct place in the sentence below. 

 

1 point 

 

 

The pixies were electric blue with pointed faces and shrill voices the moment the cover 

was removed, they had started jabbering and rattling the bars of the cage. 

 

 
  

 

Tick the option that correctly completes the sentence below. 

 

1 point 

 

In 1943 the Chamber of Secrets was an unknown person. 

 

 

 

Tick one. 

 

In, 1943 the Chamber of Secrets was opened by  

In 1943, the Chamber of Secrets was opened by  

In 1943 the Chamber, of Secrets was opened by  

In 1943 the Chamber of Secrets, was opened by  

 
  

 

Tick one box to show the correct place for a colon in the sentence below. 

 

1 point 

 

Harry sometimes wears a cloak that makes him invisible not everyone is fooled by it. 

 

   

10 

11 

12 

13 



 

 

Which sentence is punctuated correctly? 

 

1 point 

 

 

Tick one. 

 

The phoenix appeared flew, straight at Harry dropped a ragged, thing at his 

feet and then landed on his shoulder.  

The phoenix, appeared flew, straight at Harry dropped a ragged thing at his 

feet and then landed on his shoulder.  

The phoenix appeared, flew straight at Harry dropped a ragged thing at his 

feet, and then landed on his shoulder.   

The phoenix appeared, flew straight at Harry, dropped a ragged thing at his 

feet and then landed on his shoulder.  

 
  

 

 

Which sentence is punctuated correctly?  

 

1 point 

  

Tick one. 

 
Life at The Burrow was different to Privet Drive – the Weasleys’ house 

burst with the strange and unexpected.  

Life at The Burrow was different to Privet Drive the Weasleys’ house burst 

with the strange – and unexpected.   

Life at The Burrow – was different to Privet Drive the Weasleys’ house 

burst with the strange and unexpected.  

Life at The Burrow was different to – Privet Drive the Weasleys’ house 

burst with the strange and unexpected.  

   

 

Which sentence is punctuated correctly? 

  
  

Tick one. 

 

1 point 

A Galleon is a wizard coin (equal to 17 Sickles or 493 Knuts made from 

gold).  

A Galleon is a wizard coin (equal to 17 Sickles or 493 Knuts) made from 

gold.  

A Galleon is a wizard coin equal to (17) Sickles or 493 Knuts made from 

gold.  

A Galleon is a wizard coin (equal to 17 Sickles) or 493 Knuts made from 

gold.  

   

14 

15 

16 



 

 

Which sentence is punctuated correctly? 

 

1 point 

 
 

 

Tick one. 

 

“I’ll be in my room, making no noise and pretending I’m not there, said 

Harry dully.  

“I’ll be in my room, making no noise and pretending I’m not there”, said 

Harry dully.  

“I’ll be in my room, making no noise and pretending I’m not there” said 

Harry dully.  

“I’ll be in my room, making no noise and pretending I’m not there,” said 

Harry dully.  

  
 

 

The prefix inter- can be added to the word national to make the word international. 

 What does the word international mean? 

  
   

 
 

Tick one. 

 

1 point 

inside nations   

between nations   

without nations    

turning nations  

  
 

 

Circle the correct verb form in each underlined pair to complete the sentences below. 

1 point 

 

Luna Lovegood, who was / were sitting by herself, waited patiently. 

Her face was framed by pale eyebrows which was / were raised in surprise.  

Her wand was / were tucked behind an ear and she was / were reading a magazine 

upside-down. 

   

17 

18 

19 



 

 

Which sentence is the most formal? 

  

   

Tick one. 

 

1 point 

You’re not allowed to use magic outside school if you’re too young, 

are you?  

Kids are not allowed to use magic outside school. 
 

Students are not permitted to use magic outside school whilst 

underage.  

Students are not allowed to do magic outside school while they are 

too young.  

    

 

Circle the conjunction in each sentence. 

 

1 point 

 

 

Harry first meets a dementor while he is on the Hogwarts train. 

Dementors drain hope wherever they go. 

Because he has traumatic memories, Harry is affected badly by the dementors.  

 
  

 

 

Which two sentences contain a preposition? 

 

1 point 

 

 

 

 

Tick one. 

 

Professor Lupin was a teacher during Harry’s third year  

Lupin looked ill, exhausted and was dressed shabbily.   

Though he seemed quite young, his brown hair was flecked with grey.  

Professor Lupin has a secret.  

   
  

 

20 

21 

22 



 

 

What is the subject of the sentence below? 

 

1 point 

 

Before breakfast, Hermione read books in the Library. 

 

  

Tick one. 

 

breakfast  

Hermione  

books   

Library  

  
 

 

Circle the relative pronoun in the sentence below. 

 

1 point 

 

 

Crookshanks, who is a large ginger cat, belongs to Hermione. 

 

 

  
 

 

Circle the possessive pronoun in the passage below. 

1 point 

 

 

Hogwarts students enjoy visiting the shops in Hogsmeade. Honeydukes is a 

favourite of theirs. 

 

 

  
 

 

Complete the sentence below with a noun formed from the verb explain. 

1 point 

 

Harry struggled to think of an ___________________________ as to why he had been 

in the tower when he should have been in bed. 

  
 

23 

24 

25 

26 



 

 

Circle the adverb in the sentence below.  

 

1 point 

 

 

Wondering how to get through the crumbly wall, Harry pushed hard. 

 

 

 

Which sentence is a statement?  

 

1 point 

  

Tick one. 

 

Open your textbook carefully  

Have you noticed that it has teeth  

Stroke its spine before you attempt to touch it  

We know who might have chosen this book  

 
  

 

 

Write a command which could be the first step in the instructions for flying a 

broomstick.   Remember to punctuate your answer correctly.  

 

1 point 

 

 

 

 

 

 

 

 

   

 

Which underlined group of words is a subordinate clause? 

1 point 

 

 

 

Tick one. 

 

Although he was underage, Harry took part in the Triwizard Tournament. 

  

He was the fourth person to be chosen by the Goblet of Fire. 

  

If someone is chosen, they have to take part. 

  

He could not believe it when he was chosen. 

  

 

   

27 

28 

29 

30 



 

 

Which sentence contains a relative clause? 

 

1 point 

 

 
Tick one. 

 

Hufflepuff is known for loyalty and hard work.  

Slytherin prizes cunning and ambition.  

It is Ravenclaw that values wisdom above everything else.  

Gryffindor students are the bravest of all.  

 
  

 

 

Label each of the clauses in the sentence below as either main (M) or subordinate (S).
   

1 point 

 

Harry scanned the crowd but he could not see any sign of the dog 

as he waited for the match to begin.  

 

  
 

 

Write a noun phrase containing at least three words to complete the sentence below. 

Remember to punctuate your answer correctly. 

 

1 point 

 

 

________________________________________________celebrated the end of the 

exams. 

 

 

   

31 

32 

33 



 

 

Rewrite the verbs in the boxes to complete the sentences with the correct 

choice of tense. 

 

1 point 

 

Hagrid often _____________________ for the unusual creatures that he finds. 

 

 

 

 

When Harry and Ron flew in the car, they ___________________ into a tree.   

 

 

 

 

 

   

 

Complete the sentence below with the simple past tense of the verbs in the boxes. 

 

1 point 

 

 

 

Ron  _______________ excited when he _____________ Viktor Krum because he  

 

 

 

 

 

___________________famous.  

 

 

 

 

  
 

 

Rewrite the sentence below in the active.  

Remember to punctuate your answer correctly. 

1 point  

   

34 

35 

36 

to care 

to crash 

to feel to meet 

to be 



 

 

Rewrite the underlined verbs in the sentence below so that they are in the  

past progressive form. 

1 point 

 

Harry wore his invisibility cloak. He did not want to be spotted as he sneaked  

 

 

 

 

 

 

into Hogsmeade.  

 

  

 

  
 

 

Tick one box in each row to show whether the apostrophe is used for  

a contracted form or possession. 
 

1 point 

 

 
Sentence 

Apostrophe is 
used for a 
contracted 

form 

Apostrophe 
is used for 
possession 

It is Malfoy’s fault.   

The plan’s gone wrong.   

You will come, won’t you?   

Snape’s there.   
 

  
 

 

Insert full stops and capital letters in the passage below so it is punctuated correctly. 

1 point 

 

Ginny   Weasley   is   the   youngest   of   the   Weasley   children   she   is   also   

the  only   girl   she  is  an  acomplished  Quidditch  player  Ginny   plays   on   the 

Gryffindor   team  

 

  
 

37 

38 

39 

  



 

 

Insert a pair of commas in the correct place in the sentence below. 

 

1 point 

 

 

Hagrid   who   is   part   giant   lives   in   a   hut   in   the   school   grounds. 

  

 

  
 

 

Insert a comma and a dash in the correct places in the sentence below. 

1 point 

 

As   everyone   knows    the    Forbidden    Forest    has    many    dangers   students 

are    not    allowed    in. 

 

  
 

 

Insert a pair of brackets in the correct place in the sentence below. 

1 point 

 

Hogwarts’    many    staircases    142    in    total    are    famous    for    moving    as   

they    are    being    used. 

 

  
 

 

Which punctuation point should be used in the place indicated by the arrow? 

  

 

1 point 

 

The Marauder's Map helps Harry sneak to Hogsmeade  the Sorting Hat helps Harry 

when he is in danger. 

 

 

 Tick one. 

 

full stop    

hyphen    

semi-colon  

comma  

 
  

 

40 

41 

42 

43 



 

 

Insert two hyphens in the correct places in the sentence below. 

 

  

A break in happened at the well known Gringotts Bank. 1 point 
 

 

 

Circle the two words that are antonyms in the sentence below. 

 

 

 

 

 

“There are all kinds of courage,” said Dumbledore, smiling. “It takes a great deal of  

 

 

 

bravery to stand up to our enemies, but just as much to stand up to our friends.” 

 

 1 point 
   

 

Which one prefix can be added to all three words below to make their antonyms?  

Write the prefix in the box. 

 

 

 

behave 

 

lead 

 

take 

 

 
 

1 point 

   

 

Circle the two words that are synonyms in the sentence below. 

 

 

 

 

 

“There are all kinds of courage,” said Dumbledore, smiling. “It takes a great deal of  

 

 

 

bravery to stand up to our enemies, but just as much to stand up to our friends.” 

 

 1 point 
   

44 

45 

46 

 

47 



 

 

 

Complete each sentence below with a word formed from the root word comfort.  

 

 

 

Dumbledore sank into a _______________________ chair. 

 

 

 

 

The witch slept ____________________ as the Knight Bus swerved round the city.   

 

 

 1 point 
   

 

Which sentence is an exclamation?  

 

1 point 

  

Tick one. 

 

What a nuisance Mrs Norris is  

What makes Mrs Norris a nuisance  

Is Mrs Norris a nuisance  

How is Mrs Norris a nuisance  

 
  

 

 

Which sentence uses capital letters correctly? 

 

1 point 

  

 

 

Tick one. 

 

The Books about Harry Potter were written by J.K. Rowling.  

Hogwarts is very different from any other British school.   

I wish I were a Wizard or a Witch like Harry, Ron and Hermione.  

I prefer the Books to the Film versions of the books.  

 
  

 
 

48 

49 

50 



 

How did you do? 
 
• Check your answers with a grown-up. 
• Now highlight the question numbers that you got right on this table.  
• This will help you to see which areas are strengths and where you could practise more 

 
 

Word Classes 1, 2, 3, 4, 5, 21, 22, 26, 27, 33 
Pronouns 6, 24, 25 
Sentence Punctuation 7, 8, 10, 39, 50 
Verb Form 9, 19, 36 
Punctuation 11,12,13,14,15,16,17, 38, 40, 41, 42, 43,44 
Formal language 20 
Sentence Structure 23, 28, 29, 49 
Clauses 30,31,32, 
Tense 34, 35, 37 
Vocabulary 45, 46, 47, 48, 18 

 



 

My Grammar Target 
When I am learning at home, I shall try to learn more about … 

 

 



 

English grammar, punctuation and spelling: ANSWERS 
 

 
What is the word class of the underlined words in the sentence below? 
 

1 point 

 
Neville laughed when the Bogart turned into Snape in an old frilly dress and a towering 
hat. 
 
  

Tick one. 
 

adjectives  

adverbs  

determiners  

nouns  
   

 
Which sentence uses the word right as an adverb?  
  

  
Tick one. 
 

1 point 

Everyone has the right to a fair trial.   

Hermione knew the right answer.  

Harry chose the right way into the maze.     

Ron sighed as he had guessed right.  
   

 
Complete the sentence with an appropriate subordinating conjunction. 
 

1 point 

 
 
 
Hagrid hummed ____________as______________ he fed Buckbeak. 
 
 

  
 

1 

ü 

2 

ü 
 

3 



 

 
What is the word class of the underlined word in the sentence below? 
 

1 point 

 
Hold on tight when riding the Knight Bus. 
 

 
 
Tick one. 
 

conjunction  

adverb  

determiner  

verb  
  

 

 
Which sentence uses the word well as a verb? 
 

1 point 

  
Tick one. 
 

The Pensieve was like a well of memories.  

Quirrell did not seem a well person.   

A tear began to well in the phoenix’s eye.    

Hagrid’s first lesson did not end well.   
   

 
Replace the underlined words in the sentence below with the correct pronouns. 
 

1 point 

 
Hagrid’s advice was for Ron and Harry to follow the spiders  
but Hagrid’s advice confused Ron and Harry.  
 
 

   
 
 
 
 

  
 

4 

ü 
 

5 

ü 
 

6 

them it 



 

 
Tick the sentence that must end with a question mark. 
 

1 point 

  
Tick one. 
 

When Ron pushed the button, the car seemed to vanish  

How the car was flying, Harry did not know  

What worries he had soon slipped away as Harry enjoyed the ride  

Why hadn’t they been able to get onto platform nine and three-quarters   
 

  
 

 
Which sentence is a command?  
 

1 point 

  
Tick one. 
 

Open the Chamber of Secrets    

The Chamber of Secrets has been opened   

Where is the Chamber of Secrets  

Open is the Chamber of Secrets  
 

 
Which verb form completes the sentence? 
  

  
Once he had opened the cage, the pixies shot in every direction like rockets. 
  

     
 

 
Tick one. 
 

1 point 

had opened   

is opening   

was opening     

have opened  
  

 

7 

ü 
 

8 

ü 
 

9 

ü 
 



 

 
Which sentence uses capital letters correctly? 
 

1 point 

  
Tick one. 
 

It was Saturday and they decided to visit Hagrid after breakfast.  

It was saturday and they decided to visit Hagrid after breakfast.  

It was Saturday and they decided to visit Hagrid after Breakfast.  

it was Saturday and they decided to visit hagrid after breakfast.  
 

  

 
Insert a semi-colon in the correct place in the sentence below. 
 

1 point 

 
 
The pixies were electric blue with pointed faces and shrill voices; the moment the cover 

was removed, they had started jabbering and rattling the bars of the cage. 

 
 

  

 
Tick the option that correctly completes the sentence below. 
 

1 point 

 
In 1943 the Chamber of Secrets was an unknown person. 
 

 

 
Tick one. 
 

In, 1943 the Chamber of Secrets was opened by  

In 1943, the Chamber of Secrets was opened by  

In 1943 the Chamber, of Secrets was opened by  

In 1943 the Chamber of Secrets, was opened by  
 

  

 
Tick one box to show the correct place for a colon in the sentence below. 
 

1 point 

 
Harry sometimes wears a cloak that makes him invisible not everyone is fooled by it. 
 

   

10 

ü 
 

11 

12 

ü 
 

13 

ü 



 

 
Which sentence is punctuated correctly? 
 

1 point 

 

 
Tick one. 
 

The phoenix appeared flew, straight at Harry dropped a ragged, thing at his 
feet and then landed on his shoulder.  

The phoenix, appeared flew, straight at Harry dropped a ragged thing at his 
feet and then landed on his shoulder.  

The phoenix appeared, flew straight at Harry dropped a ragged thing at his 
feet, and then landed on his shoulder.   

The phoenix appeared, flew straight at Harry, dropped a ragged thing at his 
feet and then landed on his shoulder.  

   
 

 
Which sentence is punctuated correctly?  
 

1 point 

  
Tick one. 
 

Life at The Burrow was different to Privet Drive – the Weasleys’ house 
burst with the strange and unexpected.  

Life at The Burrow was different to Privet Drive the Weasleys’ house burst 
with the strange – and unexpected.   

Life at The Burrow – was different to Privet Drive the Weasleys’ house 
burst with the strange and unexpected.  

Life at The Burrow was different to – Privet Drive the Weasleys’ house 
burst with the strange and unexpected.  

   

 
Which sentence is punctuated correctly? 
  
  

Tick one. 
 

1 point 

A Galleon is a wizard coin (equal to 17 Sickles or 493 Knuts made from 
gold).  

A Galleon is a wizard coin (equal to 17 Sickles or 493 Knuts) made from 
gold.  

A Galleon is a wizard coin equal to (17) Sickles or 493 Knuts made from 
gold.  

A Galleon is a wizard coin (equal to 17 Sickles) or 493 Knuts made from 
gold.  

   

14 

ü 
 

15 

ü 
 

16 

ü 
 



 

 
Which sentence is punctuated correctly? 
 

1 point 

 
 

 
Tick one. 
 

“I’ll be in my room, making no noise and pretending I’m not there, said 
Harry dully.  

“I’ll be in my room, making no noise and pretending I’m not there”, said 
Harry dully.  

“I’ll be in my room, making no noise and pretending I’m not there” said 
Harry dully.  

“I’ll be in my room, making no noise and pretending I’m not there,” said 
Harry dully.  

  
 

 
The prefix inter- can be added to the word national to make the word international. 
 What does the word international mean? 
  

   
 

 
Tick one. 
 

1 point 

inside nations   

between nations   

without nations    

turning nations  

  
 

 
Circle the correct verb form in each underlined pair to complete the sentences below. 

1 point 

 
Luna Lovegood, who was / were sitting by herself, waited patiently. 

Her face was framed by pale eyebrows which was / were raised in surprise.  

Her wand was / were tucked behind an ear and she was / were reading a magazine 

upside-down. 

   

17 

ü 
 

18 

ü 
 

19 



 

 
Which sentence is the most formal? 

  
   

Tick one. 
 

1 point 

You’re not allowed to use magic outside school if you’re too young, 
are you?  

Kids are not allowed to use magic outside school.  

Students are not permitted to use magic outside school whilst 
underage.  

Students are not allowed to do magic outside school while they are 
too young.  

    

 
Circle the conjunction in each sentence. 
 

1 point 

 
 
Harry first meets a dementor while he is on the Hogwarts train. 

Dementors drain hope wherever they go. 

Because he has traumatic memories, Harry is affected badly by the dementors.  

 
  

 

 
Which two sentences contain a preposition? 
 

1 point 

 
 
 

 
Tick one. 
 

Professor Lupin was a teacher during Harry’s third year  

Lupin looked ill, exhausted and was dressed shabbily.   

Though he seemed quite young, his brown hair was flecked with grey.  

Professor Lupin has a secret.  
   

  
 

20 

ü 
 

21 

22 

ü 
 

ü 
 



 

 
What is the subject of the sentence below? 
 

1 point 

 
Before breakfast, Hermione read books in the Library. 
 

  
Tick one. 
 

breakfast  

Hermione  

books   

Library  
  

 

 
Circle the relative pronoun in the sentence below. 
 

1 point 

 
 
Crookshanks, who is a large ginger cat, belongs to Hermione. 
 
 

  
 

 
Circle the possessive pronoun in the passage below. 

1 point 

 
 
Hogwarts students enjoy visiting the shops in Hogsmeade. Honeydukes is a 

favourite of theirs. 

 
 

  
 

 
Complete the sentence below with a noun formed from the verb explain. 

1 point 

 

Harry struggled to think of an ______explanation__________ as to why he had been in 

the tower when he should have been in bed. 

  
 

23 

ü 
 

24 

25 

26 



 

 
Circle the adverb in the sentence below.  
 

1 point 

 
 
Wondering how to get through the crumbly wall, Harry pushed hard. 
 
 

 
Which sentence is a statement?  
 

1 point 

  
Tick one. 
 

Open your textbook carefully  

Have you noticed that it has teeth  

Stroke its spine before you attempt to touch it  

We know who might have chosen this book  
   

 

 
Write a command which could be the first step in the instructions for flying a 
broomstick.   Remember to punctuate your answer correctly.  
 

1 point 

 
 
 
 
Hold your broomstick correctly. 
 
 
 

   

 
Which underlined group of words is a subordinate clause? 

1 point 

 
 

 
Tick one. 
 

Although he was underage, Harry took part in the Triwizard Tournament. 
  
He was the fourth person to be chosen by the Goblet of Fire. 
  
If someone is chosen, they have to take part. 
  
He could not believe it when he was chosen. 
  
 

   

27 

28 

ü 
 

29 

30 

ü 
 



 

 
Which sentence contains a relative clause? 
 

1 point 

 
 

Tick one. 
 

Hufflepuff is known for loyalty and hard work.  

Slytherin prizes cunning and ambition.  

It is Ravenclaw that values wisdom above everything else.  

Gryffindor students are the bravest of all.  
 

  
 

 
Label each of the clauses in the sentence below as either main (M) or subordinate (S).
   

1 point 

 

Harry scanned the crowd but he could not see any sign of the dog 

as he waited for the match to begin.  

 
  

 

 
Write a noun phrase containing at least three words to complete the sentence below. 
Remember to punctuate your answer correctly. 
 

1 point 

 
 
____________The relieved and happy students_______celebrated the end of the 

exams. 

 
 

   

31 

ü 
 

32 

33 

M M 

S 



 

 
Rewrite the verbs in the boxes to complete the sentences with the correct choice 
of tense. 
 

1 
poin
t 

 
Hagrid often _______cares__________ for the unusual creatures that he finds. 
 
 
 
 
When Harry and Ron flew in the car, they ____crashed__________ into a tree.   
 
 
 
 
 

   

 
Complete the sentence below with the simple past tense of the verbs in the boxes. 
 

1 
poin
t 

 
 
 
Ron  _____felt__    excited when he ______met___ Viktor Krum because he  
 
 
 
 
__was____famous.  
 
 
 
 

  
 

 
Rewrite the sentence below in the active.  
Remember to punctuate your answer correctly. 

1 
poin
t 

 
The chaos was caused by Fred and George. 
 
 
_______Fred and George caused chaos._ 
 
 
 
_________________________________________________________________________
____ 
 
 
 

  
 

34 

35 

36 

to care 

to crash 

to feel to meet 

to be 



 

 
Rewrite the underlined verbs in the sentence below so that they are in the  
past progressive form. 

1 point 

 
Harry wore his invisibility cloak. He did not want to be spotted as he sneaked  
 
 
 
 
 
 
into Hogsmeade.  
 
  
 

  
 

 
Tick one box in each row to show whether the apostrophe is used for  
a contracted form or possession. 
 

1 point 

 
 

Sentence 
Apostrophe is 

used for a 
contracted 

form 

Apostrophe 
is used for 
possession 

It is Malfoy’s fault.  ü 
 

The plan’s gone wrong. ü 
  

You will come, won’t you? ü 
  

Snape’s there. ü 
  

 

  
 

 
Insert full stops and capital letters in the passage below so it is punctuated correctly. 

1 point 

 

Ginny   Weasley   is   the   youngest   of   the   Weasley   children.   She   is   also   

the  only   girl.   She  is  an  acomplished  Quidditch  player.  Ginny   plays   on   

the Gryffindor   team. 

 
  

 

37 

38 

39 

was wearing was sneaking 



 

 
Insert a pair of commas in the correct place in the sentence below. 
 

1 point 

 
 

Hagrid,   who   is   part   giant,   lives   in   a   hut   in   the   school   grounds. 

  
 

  
 

 
Insert a comma and a dash in the correct places in the sentence below. 

1 point 

 
As   everyone   knows,    the    Forbidden    Forest    has    many    dangers - students 

are    not    allowed    in. 

 
  

 

 
Insert a pair of brackets in the correct place in the sentence below. 

1 point 

 

Hogwarts’    many    staircases    (142    in    total)    are    famous    for    moving    as   

they    are    being    used. 

 

  
 

 
Which punctuation point should be used in the place indicated by the arrow? 
  
 

1 point 

 
The Marauder's Map helps Harry sneak to Hogsmeade  the Sorting Hat helps Harry 
when he is in danger. 
 
 

 Tick one. 
 

full stop    

hyphen    

semi-colon  

comma  

40 

41 

42 

43 

ü 
 



 

   
 

 
Insert two hyphens in the correct places in the sentence below. 

 
  

A break-in happened at the well-known Gringotts Bank. 1 point 
 

 

 
Circle the two words that are antonyms in the sentence below. 
 

 

 
 
 
“There are all kinds of courage,” said Dumbledore, smiling. “It takes a great deal of  
 
 
 
bravery to stand up to our enemies, but just as much to stand up to our friends.” 
 
 1 point 

   

 
Which one prefix can be added to all three words below to make their antonyms?  
Write the prefix in the box. 
 

 

 
behave 
 
lead 
 
take 
 

 
 

1 point 

   

 
Circle the two words that are synonyms in the sentence below. 
 

 

 
 
 
“There are all kinds of courage,” said Dumbledore, smiling. “It takes a great deal of  
 
 
 
bravery to stand up to our enemies, but just as much to stand up to our friends.” 
 
 1 point 

44 

45 

46 

mis 

47 



 

   

 

 
Complete each sentence below with a word formed from the root word comfort.  

 
 
 
Dumbledore sank into a _______comfortable________ chair. 
 
 
 
 
The witch slept _____comfortably________ as the Knight Bus swerved round the city.   
 
 
 1 point 

   

 
Which sentence is an exclamation?  
 

1 point 

  
Tick one. 
 

What a nuisance Mrs Norris is  

What makes Mrs Norris a nuisance  

Is Mrs Norris a nuisance  

How is Mrs Norris a nuisance  
   

 

 
Which sentence uses capital letters correctly? 
 

1 point 

  
 

 
Tick one. 
 

The Books about Harry Potter were written by J.K. Rowling.  

Hogwarts is very different from any other British school.   

I wish I were a Wizard or a Witch like Harry, Ron and Hermione.  

I prefer the Books to the Film versions of the books.  
   

 
 
 

48 

49 

ü 
 

50 

ü 
 


